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IBPS RRB PO Prelims Previous Year Paper - 2022

Directions (1-5): Study the following information carefully and answer the questions given below:

Rt ST F7 eTqE® STeda Ty oY {1 30 0 Tof o I Ao

Eight persons sit around a square table and four of them face inside while four of them face outside.
Four persons sit at the corner and rest four sit at the edges of the table. O and N face each other. P sits
2nd to the right of N. L sits just left Q who sits at corner of table. Q faces outside. M and Q are immediate
neighbours and face opposite direction to each other. P face opposite direction as R and S face. S does
not sit just left of P.

TS ATE T AV HST & AT AR 95 ¢ A ITH | 1L (G Al AT I g A1 3qH & AT dATg< ol
AT 3@ g| AT AE TS o Tl I AT AT FTL TS Al ST 92 45 &

0 3fT N U TAY AT A I7q@ 2| P, N I3 & THL T 9L 937 81 L, Q F &1 a3 T27 5, Q ST 7T o Fld I¥
JT 81 Q FTg< il AT I7H@ g | M 3% Q Feaw U= § 3T Us @Y o @9<iq Q9T T ¥ 3=q4@ &l P, R
3ie S it oo faem it s ST €1 S, P & &1 913 A5l o7 2

Q1. Who sits 4th [eft of L?

L 3 T & =79 TATT U< I 937 82
(a) P

(b) S

(@0

(dM

(e) None of these / T8 H FI5 F@'

Q2. Who among the following persons face outside?
et & & Fa-a1 =< a7 it A7 3709 87?
(@aM,o0

(b)N, L

()R, L

(do,p

(e) None of these / T & &S -‘-@r

Q3. Who among the flowing are immediate neighbour of R?
fAeferfea & & 9 R &7 Meheaq TSt 82

(@Pp

(b) M

(S

(d)Q

()0



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR4l7|

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— e —
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000 + Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW



https://applink.adda247.com/d/5zsmwiLHz7

i

Q4. Which of the following statement is true?
Rt & & 9 91 F:99 97 872

I. P and Q sit diagonally opposite to each other
P < Q T T 3 Feta: e 8% 8

IL. S does not face outside

S ATEY T X I+HE A=l 2l

III. N and R are immediate neighbours

N 3% R fAereaw T=THt g1

(a) Both I and Il are true / I 3fi¥ Il T4 9T g
(b) Only 11l is true / Fa< 111 77 gl

(c) Both Il and III are true / II Si< 111 T T gl
(d) Both I and III are true / I 3fi< 111 TET T gl
(e) None is true / TS HT T LT 2l

Q5. What is the position of S with respect to M?
M % 72 § S T €19 7 57

(a) 2nd to the right / =TT & TAIT

(b) Immediate left / Fs 10

(c) 2nd to the left / ITT & TET

(d) 3 to the right / 7T & TFT&=T

(e) None of these / T#H & s gl

Directions (6-9): Study the following information carefully and answer the questions given below:

T ST &l SATAIA S STETAT hl o1 S Ao (U T T F 3L A1

R has 2 children of different gender. A is the brother-in-law of T who is unmarried. D is the cousin of M
who is granddaughter of R. B is the aunt of L who is the only daughter of K. Q is the mother of B. A is the
spouse of K. T is the aunt of L and have only one sibling. C is the son in law of R.

R # STERT-3TCT e &l 2 §ATH g1 A, T T q&-24-d1 g, T ST AAaTd gl D, M & Ffod g, M ST R#FT i€
Tfex g | B, LT aie g, L ST K &t TahaA 1ot 9l g1 Q, B#T AT 81 A, K &7 Sfta=areft 8| T, L #T sfie g, 3T 391
Fa UH Al gl C, R FT 9-29-A1 g

Q6. Who is the grandson of Q?

Q T J=HT A 57

(a) M

(b) T

(0L

(d)D

(e) None of these / TAH A FS H@'

2 I
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Q7. How many females are in the family?
TRER § At AT 62

(a) Four / AT

(b) More than five / 9= & 3TferF

(c) Five / 9=

(d) Three / q=

(e) None of these / T7H & FI Al

Q8. Who is the brother-in-law of A?
A FT TEL-ZA-AT I 57

(@)D

(b) L

()M

(d)C

(e) None of these / T#H & s gl

Q9. Who is the mother-in-law of K?
K #T HET-2-A( %I 872

(@) Q

(b) B

()M

(d)T

(e) None of these / T#H & s gl

Q10. How many pairs of letters are there in the word ‘REFRIGERATOR’, each of which have as many
letters between them in the word as they have in English alphabetical series (both forward and
backward direction)?

9153 ‘REFRIGERATOR’ ® &1&1<i & UH fhad o0 ¢, BIH & & & &9 3a9 of A& § orad 1 i
FOTHTAT AT (T A T T *9met) 7 &2

(a) One / U=

(b) Three / T

(c) None / Fs &l

(d) Two /&7

(e) More than four / 9T / STT&F

Directions (11-15): Study the following information carefully and answer the questions given below:

et SRR F7 AT Ia® STeqaT Ty ST A= Q0 TT 7 o I KA1

A certain number of persons sit in a linear row facing north. R sits 4% from one of the extreme ends. S
sits 3rdto the left of R. One person sits between D and S. D sits 3rdto the left of T. Two persons sit between
T and U who sits just left of B. More than one person sits between R and B. X sits 27d to the left of L and
is an immediate neighbour of B.

srtRat it e A wear sav f 7 I g v e 9w § 32 81 R G o siftw g =i
AT I BT g1 S, R F 974 & 16 TIT9 9T 937 81 D 3T S o e U =(<h 957 8| D, T 974 & A6 T
T T5T 81 T #iT U o 7T &7 AT<h 95 &, U ST B % 31 a13 9T 81 R 3T B & HeT U | AT ATh o5 gl X,
L % T3 § gAY TIF 9T 927 ¢ 3i% a8 B &7 [Ashedw T2+ 2l

3 I
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Q11. What is the possible minimum number of persons sit in the row?
otk ® 95 SARRAT it GATIAT ~IAad SeaT ohat a1 qehdl 87?

(a) 17

(b) 18

(c) 14

(d)13

(e)12

Q12. How many persons sit between R and X?

R ¥ X & 77 T =f<h 95 872
(a) Six/ B8

(b) Four / ATX

(c) More than seven / ITa & ({2
(d) Three / @9

(e) One / T=

Q13. What is the position of D with respect to B?
B % |72 § D T €T F4T 872

(a) 7t to the right / TTT & FTAAT

(b) 2nd to the right / TTT & TAEIT

(c) Immediate left / 1% aTd

(d) 3rd to the left / SITT & T

(e) None of these / =1 & IS Tal

Q14. The number of persons sit between S and T is same as the number of persons sit to the right of
____(in case of minimum number of persons).

S ST T % W& 95 SARRAT ol H&AT IqT &l &, fora«r % TTS ST 9 SATHAT i HEAT g|(FATRAT
~IAqH HE&AT & AT H)|

(@)X

(b) B

(U

(dR

(e) L

Q15. Who among the following sits near to D?
fReferfera § & 19 D & e F21 82

EY

(b) B

(R

(d) X

(e)S
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Directions (16-20): In each of the questions below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follows from the given statements disregarding commonly known facts.

F=r faw 0w T ° Fg FAF Y 39F 912 T [oRy QU M0 g AT U T0 FAAT F TF /AT G,
A 1 F FATd a1 o 9 T grar ai| aeft [=esut &1 92 3w fohe a7 firfore o o 1o Aot & & e
AT (wT AT € | JTq q2A1 6l 99aTg U AT R U weei F7 a9 9 SET el g

Q16. Statements:

Some Rocks are Marble.

No Marble is Concrete.

FIA:

RERETRICE ]

1 W, Fhe T &

Conclusions: / fAtHy:

I. Some Rock are concrete. / & T, #hie gl
I. No Rock is concrete. / Fs (e, #Fhie Aa! gl
(a) If only conclusion I follows.

I Faer Moy | SIE0T FdT gl

(b) If only conclusion II follows.

T2 Faer Moy 11 SEor T gl

(c) If either conclusion I or II follows.

T I7 7 w1 37 11 SATE0T F:aT g

(d) If neither conclusion I nor II follows.
T 7 a7 AR [ 3% T 37 11 a0 HLam gl

(e) If both conclusions I and II follow.

T Aoy 1 =i 11 1 a0 3 &

Q17. Statements:

Some City are not Town.

All Town are Metro.

FI:

EEARCARC R G EI

asft a3, Hel 2

Conclusions: / fAtw:

I. Some City are Metro. / = oY, wer 2
IL. All City being Metro is a possibility. / &dT &t = #ar @%r #T TATEAT 2
(a) If only conclusion I follows.

7f3 Faer ehT [ a0 FdT gl

(b) If only conclusion II follows.

7% Faer Aoy 11 SIgE<T F3aT 2|

(c) If either conclusion I or II follows.

T2 =7 a1 Ao 1 97 11 a0 FH2aT g

(d) If neither conclusion I nor II follows.

T 7 a1 w1 3fT 7 81 11 a0 Far &l

(e) If both conclusions I and II follow.

T Ao 1 3T 11 ST a0 2 &

5 |
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Q18. Statements:

Only a few Fish are Turtle.

All Turtle are Rabbit.

T

Fad T ThaT, 22 2|

asft =2a1, ¥fae B

Conclusions: fAtHY:

I. Some Fish are not turtle. / T fthar, =8« =l &
IL. No Turtle is Fish. / #Is @21, fher 981 2|
(a) If only conclusion I follows.

T Fae Moy | a0 T gl

(b) If only conclusion II follows.

T Faer Moy 1] a0 T gl

(c) If either conclusion I or II follows.

T =T a1 Ao 1 97 11 STE0r FH7aT gl

(d) If neither conclusion I nor II follows.
Tfe 7 a1 w1 3f7 7 & 11 a0 FaT &l

(e) If both conclusions I and II follow.

T R 1 3T 11 AT SIgEor FLd 2|

Q19. Statements:

Some clouds are water.

Some waters are Star.

FI:

T FATIE, AT Bl

Fg ATeY, T 2l

Conclusions: / A FH:

I. Some cloud can never be star. / & FAT3E, FHT T Tl &l Tahd|
IL All Could being water is a possibility. Tt FATIE, F ATeL B I HATAAT g
(a) If only conclusion I follows.

Tfe Fae Aoy | SIgEeor F3ar 2|

(b) If only conclusion II follows.

7% Faer Aoy 11 SIgE<T F3aT 2|

(c) If either conclusion I or II follows.

T =77 a1 Ao 1 97 11 a0 F2aT g

(d) If neither conclusion I nor II follows.

T 7 a1 w1 3fT 7 81 11 a0 Far &l

(e) If both conclusions I and II follow.

Tfe Ao [ 3T 11 T STTa0 2 &

6 I
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Q20. Statements:

Some earbuds are phone.

All phone are charger.

FAT: TG SALAS, Bl &

asft ®F, AT 2

Conclusions: / Aty

I. All earbuds can be charger. / Tt Sa7a<H, ATSIT g1 T 2|
IL. Some Phone are not charger. / & %I, ATS Agl gl
(a) If only conclusion I follows.

T Fae Moy | SIEL0T T gl

(b) If only conclusion II follows.

T2 Faer Moy 1] SEor T gl

(c) If either conclusion I or II follows.

T AT a1 Ao 1 97 11 STE0r FH7aT gl

(d) If neither conclusion I nor II follows.

T 7 a1 w1 3fT 7 &1 11 a0 Far &l

(e) If both conclusions I and II follow.

T e [ 3T 11 T SIgEor FLd 2|

Q21. If in the given number “3852364718” 1 is added to the odd digits and 1 is subtracted from the
even digits then what will be the sum of the digits which are 3 from the right end and 5% from the left
end in the number thus formed after rearrangement?

T < T2 H&AT “3852364718” # 0w 3l | 1 SITST STAT g A 99 3ahi § & 1 =TT SA1aT 8,7 AT
% Te MHT 96T § 0 ST F J16L ST aT0 I | 9799 37 T AT Tohd =T gRI?

(a) 15

(b) 13

(c) 16

(d) 12

(e) 11

Directions (22-25): In these questions, relationship between different elements is shown in the
statements. The statements are followed by two conclusions. Give answer.

T AT |, FAAT | AT Tl o 1= Hae Fw SQUTAT TAT g1 FAAT % 918 af w0 [T §| 3L A0

Q22.

Statements, &¥1:
A=B<P=Qz=T>V=F<E
Conclusion / fosmy
l:v<B

II:FzA

7 I
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(a) If only conclusion [ is true.
i Faer ey 197 gl

(b) If only conclusion Il is true.
Tf% Fae Aoy 1197 8

(c) If either conclusion I or Il is true.

TfT 77 a1 ARy 197 [ 97 B

(d) If neither conclusion I nor Il is true.

7% 7 97 Ao [ 3T 7 27 11 97 2

(e) If both conclusions I and II are true.

T ey [ 37 11 TE1 97 2

Q23.
Statements / &

Xz]<L£B=K,M=Z<L=R
Conclusion / fassy

l:]<Z

II:R<K

(a) If only conclusion I is true.
I e ey [ 967 2

(b) If only conclusion Il is true.
I e g 11 97 2

(c) If either conclusion I or Il is true.

i =T a1 ARy 37 11 97 2l

(d) If neither conclusion I nor Il is true.

i 7 1 M [ 3fT 7 g1 11 97 2

(e) If both conclusions I and II are true.

T ey [ 37 11 TH1 96 2

Q24.
Statements / &

E>T=zV=0=D=<A<P
Conclusion / fasad

A=V

II:0=P

(a) If only conclusion I is true.
T2 Fae Moy [ 97 gl

(b) If only conclusion Il is true.
T3 Fae Aoy 1197 &

(c) If either conclusion I or Il is true.

T2 77 a1 Fewd 197 [1 97 B

(d) If neither conclusion I nor Il is true.

Tfe 7 a1 e [ 3fi7 T & 11 97 &

(e) If both conclusions I and II are true.

Tz Ao [ &7 11 41 97 5

8 I
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Q25.
Statements / &2

Q>W=T<K<G=H
Conclusion / faisd
I: W<H

I: K=0Q

(a) If only conclusion I is true.

Tf et Foread 1 e 2

(b) If only conclusion Il is true.

T2 Fae [\ 11 97 |

(c) If either conclusion I or Il is true.
T I7 a7 9w 197 11 97 g

(d) If neither conclusion I nor Il is true.
T 7 a1 Fohe [ 3T T 57 11 97 2

(e) If both conclusions I and II are true.

T ey [ 377 11 TE1 967 2

Directions (26-30): Study the following information carefully and answer the questions given below:

AT ST FT eAT g AeqTT HIToIT ST {1 Q0 T 7T o I S0

Eight persons were born on two dates- 15t and 221 of four different months i.e. September, October,
November and December in the same year.

Two persons were born between S and A. S was born on an even date in the month having even number
of days. The number of persons born before A is one less than the number of persons born after B. Q
born just before B and two persons after R. C born after D and before P.

S SARAT T ST7H TF gl AH o6 AT AT Hg |l ST (HAa, AFeay, qaa< i faga< #ir ar fafi-
15 3T 22 T g3 AT|

S 3T A% We I ATRAT T ST+H gl IT| S T S0 a7 a7 ol He&T a1 Heid § UF 97 {2 & gam om A
H I8l S7H SAThAT sl HEAT, B & 918 ST7H SATThAT 4l H&IT | T FH gl Q FT 77 B 1% Tgof 3T R &I
JTE ST7H a7 ATHAT % d18 gall g1 C FT 77 D o a1 31T P & Tg ga g

Q26. Who among the following was born on 15t September?
Referfea & & forasr s 15 Rdax &1 gamn

(@A

(b) R

(D

(d)C

(e) None of these / TAH & FIs gl

9 I
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Q27. How many persons were born between R and P?

R 31¥ P % WeA Tl ATRAT T ST7H 3T 217
(a) Six / 7%

(b) Five / o=

(c) Four /=TT

(d) Three / &=

(e) None / ®Ts gt

Q28. Four among the following five pairs are alike in a certain manner and related to a group, who
among the following does not belong to the group?

Referfea o= g1 § ¥ = v Ao afs 7 979 € & v aqg @ 946faq &, Fefofag § 9 s1=-a1
39 99E ¥ 9 Teq A5l 8?

(@s

(b)R

(c)B

(d)D

(e)Q

Q29. Which among the following statement is not true?
aferfera & & 9 97 F99 97 981 872
(a) R was born just before A

R T 70 A & 31 Tl g3 =T

(b) C was born in December month

C T ST+H [eEa A H gail ATl

(c) A was born before P

A FTSI7H P & qgel g3 &M

(d) Q and B born in the same month

Q 31X B T S7H U &t Hald | gal

(e) All are true

q4T 77 2

Q30. The number of persons born before Q is same as the number of persons born after___.
Q ¥ gl ST FRAT T HEAT % TG ST°H SATHAT T HEAT F THIT |

(@)B

(b)S

() C

(d) P

(e) None of these / 278 & &S H@'

10 |
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Directions (31-34): Study the following information carefully and answer the questions given below:

Rt ST F7 e Ya® STeda hIfory oY A= &30 0 Tof o I Ao

Pont A is 6m to the north of point H which is 8m to the east of point B. Point B is 5m to the north of point
F. Point E is 9m to the north of point D and 8m to the east of point F. Point G is 5m to the north of point

J. Point D is 4m to the east of point G.

g A FTHF 6 Her s a g, Mg HT Mg BF 8 Hiex @ H g g B, Mg F& 5 {ex saw ¥ g1 ¥ E,
fgprofiseAsie g Fr i@ @ 3 g6 Mg F 5o # 8 g D, g GF4dT @ & B

Q31. In which direction is point E with respect to point A?
g AT a=d # W3 E g Rar g2

(a) South / f&ror

(b) North /3<¥

(c) North west / 3T 9f&19

(d) South east / Zferor q&

(e) East / 93

Q32. What is the shortest distance between point D and point J?
g D &Y 1&g | o W ~qAaH g2 ohasit g7

(a) V33m/ V33 Hfiex

(b)V41m / V41 "=z

(c) 41m / 41 Hrex

(d) 35m / 35 Hex

(e) None of these / TH & FlE A5l

Q33. What is the total distance from point E to point J?
g E¥o &g | a% g1 g fohawt g7

(a) 23m / 23 HTex

(b) 20m / 20 Hiex

(c) 18m / 18 Hiex

(d) 25m / 25 Hiex

(e) 19m / 19 HTex

Q34. Four among the following five pairs are alike in a certain manner and related to a group, which

among the following does not belong to the group?

fRerferfera o= Tt § & =12 us [ 8% & a9 € &) vF aqg ¥ g4taq g, Rutefaa § & s

39 FHE § Hated el 8?
(a) A-F

(b) E-G

(c) D+

(d) B-D

(e) E-J

11 |
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Directions (35-39): Study the following information carefully and answer the questions given below:

Aot ST #T SIIas® Teqa Fiiory oY {1+ 30 T0 w5 % Iq <A1

Seven persons from A to G sit in a row such that all of them face north. Each of them likes different
colour - Black, Blue, Red, Pink, Green, Golden and White. All the information is not necessarily in the
same order.

Two persons sit between E and the one who likes red. A is the only neighbour of the one who likes red.
D sits second to the left of E. The one who likes golden sits adjacent to D and sits second to the right of
C. More than three persons sit between C and F. B sits second to the left of the one who likes White.
Three persons sit between G and the one who likes blue. The one who likes black sits left to the one who
likes green and right to the one who likes pink.

AT G T ATq =AT<F UF GF & =0 TR d3d ¢ o F auf) 59 7 e S7@ 81 S99 § TAF FT AT -3
W[ THE § - FAT, AT, AT, AT, FLT, Mo L Tha| ST Agl (o6 THT TR 6T 07 H 2l

E 3% AT T THE Fdel ATeT SATh & &g &l ATh 96 gl A, AT T TEHE L Tl T THATT TSHr g1 D, EF
T F TAL AT UL 93T gl T8 SATh (978 Ieed T T8 g ag D & T8 3T C & 24 | L TI1F 9L 937 2
C 3 F & He i & A8 Ah 95 g1 B, THE W1 THE H a7l o a1 ° AL AT 9 927 g1 G 3 7ar
W THT FA qTA o HET I A< 9 gl T8 SATh (976 AT BT THE g TG < W il THE FLA AT & a4
T AT T TG Tl AT o T 937 B

Q35. Who among the following likes pink?
eforfea # & g et 391 76T 82

(@c

(b) D

(c)B

(d) A

(e) None of these / Z7® H &S gl

Q36. Which among the following combination is correct?
Rrerferfir 3 & Fi AT i T 22

(a) C- Black / C — =1t

(b) A- White / A — %%

(c) E- Blue / E - #=T

(d) A- Green / A -3

(e) None is correct / Fs HT @& AG! B

Q37. How many persons sit between F and B?

F 4w B 3 wer iy =1R% 35 27
(a) One / U=

(b) Two / &7

(c) None / &< gl

(d) Three / T

(e) More than three / T & 31fars

12 |
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Q38. F likes which among the following colours?
F T Rrerferfe & & w1 |7 4 T 27

(a) White / g

(b) Blue / T

(c) Red / &1t

(d) Either red or blue / 3T dT &Te AT AT

(e) None of these / T & FIs AG!

Q39. Which among the following statement(s) is/are true?
et & & T q1/" F99 97 8/8?
(a) C sits adjacent to D

C, D % ma 2T 2

(b) E likes Black colour

E T W7 986 F:dT 2

(c) One person sits between C and B
U AT<h C 3T B % W 90T gl

(d) F sits at the extreme end

F &ifqw & aT 427 2|

(e) All are true / Tt 77 |

Q40. If we form a four-letter meaningful word by using the second, third, fifth and ninth letter

from the left end of the word ‘MICROPHONE’, then which of the following will be the fourth letter of the
meaningful word thus formed. If more than one word is formed mark Z as your answer. If no meaningful
word is formed, mark X as your answer?

T2 27 952 ‘MICROPHONE’ % aTU. BIT | HY, TH, Ti=a ¥ A9 & HT STANRT deh AT AL T AL
9T&% FATA B, AT 760 H & I A7 70T &6 T AT AT R TS Tk | (eI M58 A g Al Z Hl a0
ST X TS FE ATAF 967 Al a7aT &, AT X Fl AT 3L 2

(@o

(b) 1

(@C

(d) X

(e)Z

Directions (41-45): Find the wrong number in following number series.

Feferfra e seger ¥ Torq |@eq7 st1a fifsm)

Q41.118, 151, 217, 316, 445, 613, 811
(a) 613
(b) 445
(c) 151
(d) 811
(e) 316
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Q42.18, 21, 23, 28, 35, 46, 59
(a) 18
(b) 23
()21
(d) 35
(e) 46

Q43.2, 3, 8, 27, 112, 560, 3396
(a) 3396

(b) 3

(c) 560

(d) 27

(e) 112

Q44.8, 72, 121, 157, 182, 196, 207
(a) 182

(b) 72

(c) 121

(d) 196

(e) 207

Q45.451, 502, 550, 604, 655, 706, 757
(a) 604
(b) 451
(c) 550
(d) 655
(e) 706

Directions (46-50): What approximate value should come in place of question mark (?) in following
questions?

Aferfed oIt ® wet=eg (?) % T 9 AR 47 /19 AT A1280?

Q46. 64.98% 0f 479.99 - ? +175.01 =350.01
(a) 125
(b) 129
(c) 137
(d) 147
(e) 153

(15.92)2
4/16.01

Q47. (4.01)Y’x 2=
(a) 2

(b) 3

(c) 4

(d)1

(e) None of these
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Q48.3.99 x (? +119.94) = (7.99)3
(@6

(b) 12

(c)8

(d) 4

(e) 16

144.01

Q49.
(a) 12
(b)8
(c) 15
(d) 18
(e) 24

+40.01 % of 249.99 = 108.09

?

Q50. ?% of 1050.03 + 363.99 = (27.97)2
(a) 60
(b) 35
(c) 50
(d) 40
(e) 30

Directions (51-55): In each of these questions, two equation (I) and (II) are given. You have to solve
both the equations and give answer

TAH | TAF W § &7 FHIH0T (1) 32 (11) T&T T0 g1 STl I TH IR il g AT g A AL QAT g

Q51.Lx2+7x—98=0

ILy?2—y—42=0

(a) If /3= x>y

(b) If/=fT x2y

() If/=fT x<y

(d) If/=T= x<y

(e) If/=f% x = y or no relation can be established between x and y/3T x 3T y F &= e Haeg TTMT T8l
ERISIEES IR

Q52.L.12x2-7x+1=0

I.20y* -9y +1=0

(a) If/=fT x>y

(b) If/af= x=y

(c) If /Tt x<y

(d) If/7f= x<y

(e) If/=T= x = y or no relation can be established between x and y/3T x 3T y & 1= &< Hael TATAT Al
TRaT SIT FhaT B
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Q53.1.x2+13x-114=0 IL.y3 =216

(a) If/7fE x>y

(b) If/7fT x2y

(c) If/=fT x<y

(d) If/=f% x<y

(e) If/af= x = y or no relation can be established between x and y/3T x 3fI¥ y & 1= #iI< Harer w0 AT
T ST TR 2

Q54.Lx*-6x+8=0 ILy2+2y-8=0

(a) If/=(T x>y

(b) If/TT= x2y

(c) If/aT= x<y

(d) If/7T= x<y

(e) If/=f% x = y or no relation can be established between x and y/3T x 3T y & &= #®ls Hag €MD Al
ERISIGES IR

Q55.1.x2—-11x+30=0 IL.y? —13y+42=0

(a) If/7fT x>y

(b) If /1= x2y

(c) If/=fT x<y

(d) If/=fT x<y

(e) If/=f% x = y or no relation can be established between x and y/3T x 3T y & &= e Hag TTM9T Al
ERISIKES IR

Directions (56-60): The line graph given below shows the production and demand (in tons) of items
of four different (A, B, C & D) manufacturing companies in 2019. Read the data carefully and answer the
questions.

== T 13T YT e 2019 | AT SAeRT-3TA9 [\Hiar &1 (A, B, C 3T D) Fil F&qell & ScaTad ST 719
(271 ) T Z90TAT 8| ST T LATTIAH UE AT TT 6 3L &

4500
4000
3500
3000
2500
2000
1500
1000
500
0

A B C D

—#=Production (in ton) —#=Demand (in ton)
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Q56. If 80% total demand of company A and 20% of total demand of company B did not deliver at the
last moment, then find the difference between the items (in tons) did not deliver at the las time?

7T FOAT A F T ART FT 80% T FHOAT B ol Feh AT & 20% iTdH q97 9¥ fAqia 7 gaf &f, ar sifaq
T 9 faafa 981 &t TS qEqe (a7 #) ® 1= T $q< AT o)

(a) 1100

(b) 900

(c) 700

(d) 800

(e) 1000

Q57. If non-demanded items of company C were handed to company D and it added these items them
in its demanded items, then find the new demanded items (in tons) of company D?

T2 FHOAT C 3T /T Tgd aeqy, FHOT D &l G &F TS BT 3 ST 7 A€ il AT T T ST ATAT T3
# e fogm g1, av 9=t D ¥ 7 AT 6T S aTedT aEqu (39 |) 79 Fiforw)

(a) 5500

(b) 5000

(c) 6000

(d) 4500

(e) 3500

Q58. If production of items of company C increased by 30% in 2020 than previous year, then find the
difference between production of items of company C in 2020 and that in 2019.

Tfe foeer av &t a1 |, FAAT C FF aeqet  Scarad H 2020 # 30% it I g2 |, ar Fa+r C % 2020 #
U TECAT % IcaTad 3T 2019 H §U ITATE 6 &= [ AL AT ol o0

(a) 750 ton/ =

(b) 1000 ton/ &1

(c) 850 ton/ 2

(d) 900 ton/ &1

(e) 800 ton/ =

Q59. What is the ratio of sum of demand of items of company C and company D to production of items
of company B?
FIAT C 3T FHOAT D T TE3M 20l HIT o6 AT 3 FHOAT B AT TGN 6 ICATIA 1 AT T 87
(a) 37:41
(b) 31: 23
(c)13:8
(d)9:4
(e)13:9
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Q60. Sum of production of company A and C is what percentage more/less than demand of items of
company D?

FAAT A ST C 3T FEGAT o ITATE &0 TN, FHOT D it aeqeli =t 7T | v giaera sitesh/am 2

() 12.5%

(b) 37.5%

(c) 22.5%

(d) 40%

(e) 20%

Directions (61-63): There are three different hubs (IT, Food and Medical). Total number of employees
in IT hub are 800 and the ratio of male to female in IT hub is 2 : 3. In Medical hub total number of
employees are 1200. In Food hub total employees are 400 and the number of male and female employee
working in food hub are equal.

T SA-3TT g (SATS2l, BT S ATSH) gl ATeel ga H HHATIIT ol Fof dedT 800 7 3T A=l g H T&Ul
T HigATAr &1 AT 2:3 gl HISHA g H FHATAT %l Fer deaT 1200 gl FE 29 | T Haat 400 &
TAT | g9 H FIH AT a7l TRUT ST AIgAT HHATIL ol {7 THIT gl

Q61. The ratio of male to female in Medical hubis 7 : 5, then find total number of female in Medical hub?
HiSohd ga § &I fIT ATgATSAl T AqATT 7:5 8, AT ATSehed 2a § HigaATall i el HEAT ST i Tor |

(a) 720

(b) 500

(c) 700

(d) 400

(e) 800

Q62. Total male in IT hub are what percent more or less than total female in Food hub?
AL & § T [, B g H Fo1 Aigersn o fohaw wiaera stfars a7 w7 82

(2) 50%

(b) 30%

(c) 20%

(d) 40%

(e) 60%

Q63. If total males in Medical hub is 50% more than total female in IT hub, then find the ratio of total
male in IT hub to total female in Medical hub?

Tfs AT g ° T [2W, ASEr g § T HigeATel F 50% ATAF g, AT AT 29 H Fof [EUT 3T AISHe g

H el HIGATS T STATT ST o |

(@)3:5

(b)3:2

(c)1:3
3
7

(d)2:
(e)2:
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Q64. B alone can do a work in 15 days, while A, B & C together can do the same work in 5 days. If A

alone takes 8 days less than C to complete the same work, then in how many days C can complete 3/4
th of same work?

B 3ToheT U &TH T 15 faei § &€ TehdT 8, T A, B 3i¥ C ety 3ot 17 &7 5 e § 7 7 21 T A
el SHT 7 &l QT F § C ¥ 8 faT 7 «ar g, a1 C IHT &1 &1 3/4 AT fovaer faei & T37 T FhaT 272
(a) 15 days/f&=
(b) 20 days/fa=
(c) 24 days/fa=
(d) 18 days /fa=
(e) 16 days/fa=

Q65. A man invested Rs.12500 at 10% p.a. for two years on compound interest in a scheme. If total
interest received from the first scheme he invested into second scheme at 20% p.a. for two years on

simple interest, then find the total interest received by man from second scheme?

U FT<h o Ueh AT § Fhe (e ST 92 &l a9 6 (o0 10% T a9 T 3T & 12500 97 &1 =erer am af=
TRt ATSIHT & TTH T AT I8 |07 4TS 9T &7 a9 6 o107 209% S a9 7 32 | @< JroET § [aer
TRaIT, T AT ATSIHT & SAT<h &l YT %l SATST AT w0l o131 ?

(a) Rs./®. 3675

(b) Rs./%. 950

(c) Rs./®. 1020

(d) Rs./%. 1050

(e) Rs./%. 1080

Q66. A invested Rs.1600 and B invested Rs.2000 in a business. A invested for ‘t’ months and B invested
for (t + 3) months and A received Rs.400 out of total profit of Rs.1400, then find for how many months
B invested?

A 1600 =97 =T forerer 3T T B 7 U =qa|md | 2000 €93 7 fHaer Fram AF 't wgie & forw Merer R
ST B (t + 3) AEA o forw fAerer AT s AT 1400 07 & T A1 § & 400 =9 Y19 (60, a1 B 7 o
it 3 o Frder B

(a) 10 months/AgA

(b) 5 months/ #ET

(c) 8 months/ AEIA

(d) 9 months/ A

(e) 6 months/ AEIT
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Directions (67-71): The following table shows the total number of students in five different colleges
and percentage of Masters students in college.

T STt 97 STeRT-3TerT wgTiaaTedt § i il Fof HeaT oY Agraardd § TreTas Sl & Taerd i
FOTTAT B
Note: Total students in any college = Students in Masters + Students in Bachelors

e et o #eTieaera & Fot S = TEaE § g + |@aE 6 91

Colleges/ Total Students/ % of Masters
Hglfderera el O students/
WEsticdeh STET 6T
Yo
A 1000 20%
B 1250 30%
C 1500 15%
D 850 14%
E 1400 37.0%

Q67. Find the difference between total bachelor students in A and D together to total bachelor students
in B and E together?

A ST D § UHATT T &TdH G131 AL B ¥ E H THATT T ST ST HT AL ATT i o102

(a) 118

(b) 219

(c) 231

(d)178

(e) 197

Q68. If the ratio of number of males to female bachelor students in college Cis 7: 8, then find the number
of female bachelor students of college C is what percentage of total students of college C?

T2 AETE=TAT C § 89 |1q% ST S HigAT |TaaHh Grai il JedT F7 AATd 7:8 &, AT AgIa=mas C it
TR ®TaeH ST ol ST Fgraardd C & T A1 HT {hadT Iaerd 8?2

1
33;%

(a)
48204

(b) 3

Q% =%
(d)

(e) B80%

1
53 gﬂ;"ﬁ
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Q69. Find the average number of bachelor students in college A, B and E?
AT A, B 3% E | &Ta® =1 i $9d §&AT J1q i er0?

(a) 850

(b) 860

(c) 840

(d) 890

(e) 865

Q70.1f 425% of Masters students of college D got scholarship, then find the number of Masters students

of college D who didn’t got scholarship?

% FETRrRITERT D ¥ 42206 TTETTE BT H ST et 8, J werfEEmer D ¥ s art A e
ST rfor foreg sragf TRt e &

(a) 63

(b) 71

(c) 56

(d) 78

(e) 68

Q71. Number of Masters students in college B and C together is what percentage more/less than that
in college A?

AT B #lT C | THATT |TAh G110 il G&dT Agiaanad A H had Taerd siesh/aHH g2

(a) 100%

(b) 200%

(c) 150%

(d) 50%

(e) 75%

Q72. A train can cross a 100 meters long platform in 12 seconds. If train crosses a bridge, which is
double of its length in 21 seconds, then find the speed (in m/s) of the train?

T TANTET 100 HTex e Tehid il 12 H5he § ¥ FT Tadl gl T(E et 21§56 § T I Al I FHdl
&, ST SEEl AaTs § TRAT &, A1 TATET T (F1/FHe ) 1 Hifore?

(a) 12

(b)15

(c) 18

(d) 20

(e) 24
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Q73. A shopkeeper marked up the price of an article by 40% above cost price and he allows 25%
discount on marked price. If shopkeeper earns Rs. 420 as profit, then find his profit (in Rs.) when he
allows discount of 20% instead of 25%?

T THIARIT UF T 1 JoF 77 GoF & 40% ATF sifehd F2am § oli¥ ag sifohd g7 9% 25% =l ge <aT &l
T2 THRER ATH F FT | 420 FTT FHTAT ¢, TT SHRT AT (T H) TG o910 9 T8 25%  FoT 20%
T IdqT 87

() Rs/® 1204

(b) Rs/% 1240

(c) Rs/¥ 1180

(d) Rs/® 1008

(e) Rs/% 1080

Q74. In an election only two candidates participate and candidate ‘P’ got 50% less votes than ‘Q’. If Q
got 200 votes less, then there would have been a tie. Find the total number of total votes polled?

U AT § Hdel & ITHIGATT AT o d & AT SFHIEATE 'P' &7 'Q' § 50% FH ¥q [¥ad gl A< Q T 200 7q
FH A, T T g1 SATAT| STl TT FeA HAT ol S&AT AT hlTorT?

(a) 800

(b) 2000

(c) 1600

(d) 1200

(e) 1400

Q75. The ratio of P’s age four years hence to Q’s age two years ago is 4 : 5 and the average of their age
three years ago was 23 years. Find the present age of P?

T Y q1E P AT o1 T 7 a9 Ta Q &l 31 FT SI9Tq 4:5 g ML A a9 Td Iehl g 7 e 23 T AT
P T FAHTT A ST o0 ?

(a) 25 years/a¥

(b) 29 years/ad

(c) 23 years/ad

(d) 33 years/a¥

(e) 20 years/ad

Q76. The sum of area of a circle and area of a rectangle is equal to 2136 sq. cm. If the diameter of the
circleis 42 cm & the breath of the rectangle is 30 cm, then find the difference between the circumference
of the circle and the perimeter of the rectangle?

T I & &6 AT Uk AT 6 9% H AN 2136 a0 GHT % TG 21AT gl T(x g1 1 AT 42 FH1 g
T AT T ATSTS 30 HHT B, AT I 0T TIEr 3T A o TIHATT o 1= 7 A€ AT HITorg?

(a) 42 cm/EHT

(b) 22 cm/aHT

(c) 30 cm/FHT

(d) 11 cm/®HT

(€)18 cm/THY
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Q77. Average of marks scored by Deepak in English, Hindi and Math is 70 and average marks scored by
Deepak in English and Math are 73. If marks of Deepak in Science are 25% more than his marks in Hindi,
then find average marks scored by Deepak in these four subjects?

XTI GTT SIS, T2 3fie iore & T Sfehi a7 3frerd 70 g ¥ E9eh g1 SISl 3 IO § T Sishi &7 sfrad
73 g1 afe == & <19 % of fEar § SO 3l ¥ 25% AfereF 8, ar = 91 A=t § <9 g7 97y $hed
I ST Frforu?

(a) 76.5

(b) 72.5

(c)71.5

(d) 75.5

() 78.5

Q78. A vessel contains 80 liters mixture of water and milk in the ratio 5 : 3 respectively. If 20 liters
mixture from the vessel is completely replaced with milk, then find ratio of milk to water in the final

mixture in the vessel?

U 9 | 80 FAle AT 31T T& FT AT FHET: 5:3 % AT | gl T( I 7 20 (e 707 7 QI a7 9
TH H T3 [QAT SITAT &, A7 add | Sitad (7o | g ST qI1 7 STqaTd A7 hlor4?

(a) 17:15

(b) 5:4

(c) 3:2

(d) 11:7

(e) None of the above.

Q79. The speed of car A and car B is x km/hr. & (x + 20) km/ hr. respectively. If car A moves from P to
Q and car B moves from Q to P, then they meet in 5 hours. Car A takes 2 hr 15min more than car B to

cover distance between P and Q. Find the distance between P and Q?

FTT A 3T FTT B T T FwHer: x FoRei/=eT 3fiT (x + 20) Ffi/=eT 81 afT w12 A, P ¥ Q T i< F(dl g 3T F1T
B, Q& P &l 3T Il &, AT & 5 He H T g1 T A, P 3T Q & &= &l X1 aF &< H &1 BH 2 #eT 15
fAee s1fare ot g1 P &fiw Q & &= it 2T FATq Frfrg?

(a) 800km/fft

(b) 720 km/FFHT

(c) 900 km/fFHT

(d)1080 km/fFHT

(e) 1260 km/fft
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Q80. Speed of a motor boat in still water is 18 kmph. If the motor boat travels 90 km along the stream
in 3 hours, then find the time taken by the motor boat to cover the same distance against the stream?

oo S & U HWiex dre #it i 18 frei/ser 81 3fT drex aie 3 5 & oy & ar27 90 FoheT it 77 et &,
AT HIeX qTe GIT 9T & (A0 d q919 L a7 F § ohaaT 9697 a97d1 872

(a) 18 hours/=e

(b) 15 hours/=<

(c) 16 hours/=<

(d) 17 hours/=e

(e) 19 hours/=&
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Solutions (1-5):
R

" T

S &1 L

=P

0

$1. Ans.(b)
$2. Ans.(c)
$3. Ans.(a)
S4. Ans.(d)
$5. Ans.(c)

Solutions (6-9):
Q(-)=R(+)

C(+) == B(-) —A(+)==K(-) —T(-)

M(-) D(+) —L(-)

S6. Ans.(d)
S7.Ans.(b)
$8. Ans.(d)
S9. Ans.(a)

$10. Ans.(e)
Sol.

REFRIGERATOR
Y

Solutions (11-15):
S D R T
L1 1 | I l

— =
— =
—
=

S11. Ans.(d)
S12. Ans.(a)
$13. Ans.(e)
S14. Ans.(c)
$15. Ans.(c)
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Solution (16-20):

$16. Ans.(c)
Sol.

$17. Ans.(b)
Sol.

$18. Ans.(a)

|

$19. Ans.(b)
Sol.

Rabbit

<
>

$20. Ans.(a)
Sol.

8
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$21. Ans.(d)

Sol. Number-3852364718

After rearrangement- 4761453827
Sum= 8+4=12

Solution (22-25):

$22. Ans.(c)
$23. Ans.(d)
S$24. Ans.(d)
$25. Ans.(a)
Solution (26-30):
Month Date Persons
September 15 D
22 R
October 15 A
22 Q
November 15 B
22 S
December 15 C
22 P
$26. Ans.(c)
$27. Ans.(b)
$28. Ans.(e)
$29. Ans.(d)
$30. Ans.(a)
Solution (31-34):
A
8m 6m
B
5m H
8m
n E
Im
G 4m D
5m
I
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$31. Ans.(a)
S$32. Ans.(b)
$33. Ans.(c)
S$34. Ans.(d)

Solution (35-39):
C D B E G A F
| | | | |

| L
1 1 1 1 1 1 1
Blue Pink Golden Black White Green Red

$35. Ans.(b)
$36. Ans.(d)
$37. Ans.(d)
$38. Ans.(c)
$39. Ans.(e)

$40. Ans.(e)
Sol. “ICON, COIN”

S$41. Ans.(b)

Sol. Wrong number = 445
Patter of series -

118+ (33 x 1) = 151
151+ (33 x 2) =217
217 + (33 x 3) =316
316 + (33 X 4) =448
448 + (33 x 5) =613
613 + (33 x6) =811

S$42. Ans.(c)

Sol. Wrong number = 21

Patter of series -

Addition of consecutive prime numbers
18+2=20

20+3=23

23+5=28

28+7=35

35+11=46

46 + 13 =59

$43. Ans.(c)

Sol. Wrong number = 560
Patter of series -
2x1+1=3
3x24+2=8
8x3+43=27

27 X4+4=112

112X 5+5 =565
565 6 +6=3396
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S$44. Ans.(d)

Sol. Wrong number = 196
Patter of series -

8 +82=72

72 +72=121

121 + 62=157

157 +52=182

182 +42=198

198 + 32=207

$45. Ans.(c)

Sol. Wrong number = 550
Patter of series -

451 +51 =502

502 +51 =553

553 +51 =604

604 + 51 =655

655 +51 =706

706 + 51 =757

$46. Ans.(c)
Sol. 65% x 480—-7+175 = 350
?7=137

S$47.Ans.(b)

? _ 16%
Sol. 47X 2 = z=
4x2==2

4= 64
47 = (4)3
?7=3

$48. Ans.(c)
Sol. 4 x (? +120) = (8)3
4 x?7=512—-480

?7=2

4
?7=8

$49. Ans.(d)
Sol. =~ + = x 250 = 108
? 100

=2+100 =108
14 _g
?

7=18
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$50. Ans.(d)
Sol.—— x 1050 + 364 = (28)?

%1050 = 784 — 364
1(%0

— X 1050 = 420

100

~ 420x100

1050
?7=40

?

S$51. Ans.(e)
Sol.
L x2+7x—98=0

x>+ 14x—7x—98=0
x(x+14)—7(x+14)=0
x+14)(x—-7)=0
x =-14,7
ILy2—y—42=0
y2—7y+6y—42=0
yy-7)+6(y—-7)=0
y+6)(y—-7)=0
y=-6,7

So, no relation can be established between x and y.

S52. Ans.(b)

Sol.

L12x2=7x+1=0

12x%2 —4x—3x+1=0
4x(3x—1)-1Bx—-1) =0

I1.20y2 — 9y +1=0

20y2 -5y —4y+1=0
Sy(4y—1) —1(4y—1) =0
(4}’:})(53’—1):0

=S
So,x =y

S53. Ans.(d)

Sol.
IL.x2+13x-114=0
X2+ 19x-6x-114=0
X(x+19)-6(x+19)=0
(x+19)(x-6)=0
x=-19,6

II. y3=216

y3: 63

y=6

So,x <y
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$54. Ans.(b)

Sol.

Lx*-6x+8=0
x*-4x-2x+8=0
Xx(x-4)-2(x-4)=0
(x-4)(x-2)=0
x=2,4

IL. y*+2y-8=0
y2+4y-2y-8=0
y(y+4)-2(y+4)=0
y+4)(y-2)=0
y=-4,2

So,x =y

$55. Ans.(d)

Sol.
Lx?—5x—6x+30=0
x(x—5)—6(x—-5)=0
(x=5)x-6)=0
x=25,6
ILy2—6y—7y+42=0
yy—6)-7(y—6)=0
y—6)y—-7)=0
y=26,7

So,y = x

$56. Ans.(b)
Sol. Required difference = 2000 X % — 3500 X%
=1600 — 700 = 900

20
100

$57. Ans.(d)
Sol. Required new demanded items (in tons) of company D = (3000 —2500) + 4000 = 4500

$58. Ans.(d)
Sol. Production of items of company C = 3000 X % = 3900 ton
So, required difference = 3900 — 3000 = 900 ton

$59. Ans.(c)

Sol. Required ratio =

=20 _ 13:8

" 4000

2500+4000
4000
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$60. Ans.(b)
Sol. Required percentage = (2500+2222)_4000 x 100
1500

Solutions (61-63):

Total male in IT hub = 800 x = = 320

Total female in IT hub =800 — 320 = 480
Total male in Food hub = ‘l;ﬂ = 200

Total female in Food hub =400 —200 = 200

ALL EXAMS,
ONE SUBSCRIPTION.

S$61. Ans.(b)
Sol. Total number of females in Medical hub = 1200 x 15—2 =500

$62. Ans.(e)
Sol. Required percentage = 32(;500 x 100 = 60%
$63. Ans.(d)
Sol. Total males in Medical hub = 480 x =2 = 720

100
Required ratio = 320 : (1200 —720) = 2: 3

S$64. Ans.(a)
Sol. Let C alone takes ‘d’ days to complete the work alone
So, A takes (d - 8) days to complete the work alone

ATQ -

1 r,1_1
(d-8) 15 d 5
2 1 1

15 d ' (d-8)
d2—23d+60=0
d=20&d=3

here vale of d can’t be 3

So, Required days = 20 % Z = 15 days

$65. Ans.(d)
Sol. Equivalent interest rate at 10% p.a. for two years on compound interest =10 + 10 + % =21%

Total interest received form first scheme = 12500 X % = 2625 Rs.

20%2 _ Rs.1050

Required interest = 2625 X 00 -
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S$66. Ans.(e)
Sol. ATQ -

1600 Xt 400
2000 X(t+3)  1400—400
t=3

So, B invested for (3 + 3) = 6 months

Solutions (67-71): In college A,
Students in Masters = 1000 X % = 200
Students in Bachelors = 1000 — 200 = 800

Similarly,
College | Total students | Number of Masters students | Number of Bachelors students

A 1000 200 800
B 1250 375 875
C 1500 225 1275
D 850 119 731
E 1400 525 875

S67. Ans.(b)

Sol. Required difference = (875 + 875) — (800 + 731)
=1750— 1531 =219

$68. Ans.(c)
Sol. Number of female bachelor students in college C = 1275 X % = 680

; 580 — 4510
Required percentage = Ts00 % 100 = 45 3 %o

$69. Ans.(a)
Sol. Required average =

800+875+875 _ 2550
3 =

= 850

$70. Ans.(e)
Sol. Number of students who didn’t got scholarship = % X 119 = 68

S$71. Ans.(b)

Sol. Required percentage = (375+225)-200

200

x 100 =200%

S$72. Ans.(d)
Sol. Let the length of train = x
and, the speed of train = s

ATQ,
X+100 .
1z (1)
3x .
And, s = Prian (ii)
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From (i) & (ii)
Xx+100 _ z

12 7
7x+ 700 =12x
5x=700

x =140
3X140

Speed of train = =20m/s

21

$73. Ans.(d)

Sol. Let the cost price of article be Rs 100x

Mark up price of article = 100x X % = Rs 140x

Selling price of article = 140x X 17750 = Rs 105x

ATQ

~ (105x — 100x) = 420

x= 84

-~ cost price = Rs 8400

Mark up price =84 x 140 = Rs 11760
=~ selling price after 20% discount

= 11760 x % = 9408
~ Profit after 20% discount = 9408 - 8400 = Rs 1008

S$74. Ans.(d)

Sol. Q got = 100x votes

So, P got = 50x votes

Total votes = 150x votes

For tie, Q’s votes = P’s votes = 75x
100x - 75x =200

x=8

Total votes polled =8 x 150 = 1200

$75. Ans.(e)

Sol. Let present age of P and Q be ‘x’ and ‘y’ years respectively.
ATQ,

X+y=23X2+3X%X2

x+y=52 ..(i)

and,
X+4 _ 4

y-2 5
5x+20=4y-8
5x - 4y = - 28...(ii)
From (i) and (ii)

x = 20 years.
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$76. Ans.(b)
Sol.rr* +Ib=2136 (where r- radius of circle, 1- length of rectangle & b- breadth of rectangle)
2 x21 %21 +1x30=2136

1=%=25cm

So, circumference of circle = 2@r
=2 x 2y 21
7
=132 cm
Perimeter of rectangle = 2 x(1 + b)
=2 (25 + 30)
=110 cm
~ Required difference = 132 - 110 =22 cm

S$77. Ans.(b)

Sol. Marks of Deepak in Hindi = (70 x 3) — (73 X 2) = 64
Marks of Deepak in Science = 64 X %ﬁ =80

Required average = SBT3 = 725

$78. Ans.(a)
Sol. ATQ,

Quantity of milk in the final mixture in the vessel = (80 X z) — (20 X g) + 20
=425 liters
Quantity of water in the final mixture in the vessel = (80 X g) > (20 X g)
= 37.5 liters
42,

Required ratio = 22521715
37.5

$79. Ans.(c)

Sol. Let the distance between P & Q be ‘d’ km.
ATQ,

d=5 (x +x +20)

= d =10x+100 -------- (i)

and,
d d 9

LA (i)

X (x420) 4
From (i) & (ii)
9x* - 620x- 8000 =0

—100
=>x:800rT

Required distance = 10 x 80 + 100 = 900km
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$80. Ans.(b)
Sol. The speed of motor boat in still water = x =18 km/hr
Let the speed of current is y km/hr

ATQ
90
18+y
y =12km/h ALL EXAMS,
time taken by it to cover the same distance against the stream ONE SUBSCRIPTION.
9 90
- 18-12 - ?
=15 hours
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